ol
>

1o
pa)
fo —

® 98

3 99

= A4 x, y ol tiste] 16xy

@ 100 ®B 101



ol

)

P4 kx? —x— (k+7) =09

xof tigt o]

N



2 4 kx—k O] A ILI} xET} THIER S} A%k
.

® -1 3 0 @ 5 ® 3



a<bd ), ofte] TL7F AL A BT A=Y

@ a+2[<|b+2 © -a-4 [>] -b-4
1 1 a b

@§a+3 §b+3 @—g 73

ONQ) ® 0,0 ® 0,6

® 9, ©, © ® 6,0,






ol
L_L

K
o_a

e

@y=-x*+x+1

@ y=1-x*

O y=-2x2+1

@ y=-(x-12+4

® vy

(x-=1)(x+2)



AP A - 1122 + 30 = 09] Y]

7.

L@+ b2 9] gEe

5}
=

=& bt

® 9 ® 10 @ 11 B 12

@D 8



Skl x+y

, yoll o

L
— X

3

=
=

s

<X
=

x> =3xy+2y2=0

® -3v2

@ 4

@D 32

® 442



oA 54

X

=

24 2ax+4a+5 > 00] BE A4 x o thste] A

grE sk A% a9 ghol obd 22

@ 2 3 3 @ 4 B 5



——

X2-l<x+1<x2-3x+1

7k a < x<b &,

xX+3>-x+2
=29
@ -1 ® 0 @ 1 ® 2



11.

2-3x

>a,2x+4<3x ¥4, TF5H 7 =A5H7]

A 44 a o 2l HeIET

®a<§ @ a<-= ® a>4



12, o] Al 2 - (2k+4)x+2k2+9 = 00] A
HLE gotH?

@D k<2

@ k<2

® k=25 AL B Ay
@ -4<k<5

® ko] Fre =517 &=t}

rr



O 2182 A y = mx + n 3 0|2}
Bl x2 4 bx + ¢ T molt}, thg

[27] & %T‘i— A Ape?

ax> +bx+c>09 =
F=x>10|th

Al ax? + bx+c<mx+n9
—4<x<1o|th

y = ax? + bx + c A

IA olﬂ

A
Al
-3

T

ok
+r

® © ©
2 %

)
2 I‘Il‘ olr

I
E

y = mx +n A
ojrt,

@

I g0 ®
oY)
it g
4>

||
oﬂq;

@ 14 @ 2 ® 37 @ 4 ® 571



OJZHA] x? — xy — 6y* + ay — 1°] '+ LA O] Fo 2 Hehfold

14.

ol
N

o7
A

o)

® 3 3 5 @ 10 3 12

D 1



15.

oA y = ax?+bx+c O] Aol 9 0|1 o A

09 F o] -2, 4 & o, abe ©] 72?7 (H, a, b, ¢

@D -10 ® -12 ® -14 @ -16



